DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)
DIVISION

Name:

Time: Score:

2y 4.239 +9 =

22 26.104 + 0.008 =

219 —0.022668 = 0.006 =

2 —4445.1 +9 =

215) —332.2 + 0.2 =

210 —0.2193 <+ 0.06 =

21 0.1632 <+ 0.08 =

219 (0.79209 = 0.09 =

2190 0,408 -1 =

2200 —0.6861 + 0.1 =

21 0.009536 = 0.002 =

2220 —(.59535 + 0.007 =

2230 (0.396 + 0.9 =

221) —(.675 = 0.2 =

225 —(0.000968 = 0.002 =

Mathematics: Division - Level 6 - Horizontal - Set 2
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—894.51 = 0.9 =

4.8615 +0.05 =

—149.92 = 0.02 =

4.7925 =+ 0.009 =

—116.52 = 0.06 =

19.416 = 0.06 =

—7.428 +0.06 =

—68868 + 9 =

—87.867 + 0.009 =

0.1436 < 0.004 =

1034.1 +9 =

0.008751 + 0.001 =

1.51 +0.5=

—6606 5 =

—324.2+0.2 =
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